SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 4)

SUBTRACTING UP TO A MILLION

Name:

Time:

Score:

s 981354 — 231050 =

812) 726743 — 115042 =

s13) 784809 — 101605 =

1) 840672 — 710361 =

815 260757 — 130336 =

s16) 423340 — 322310 =

17 946687 — 804053 =

s18) 291419 — 250416 =

s19) 316298 — 116217 =

8200 449745 — 445105 =

20714029 — 301012 =

£22) - 584690 — 312560 =

23 645115 — 145110 =

20 471996 — 271735 =

29) 294654 — 141301 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 4
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627015 — 325010 =

427714 — 400104 =

323168 — 1124 =

740651 — 40021 =

459045 — 48042 =

669422 — 614210 =

909159 — 500125 =

539664 — 427432 =

839049 — 232031 =

413276 — 302133 =

748168 — 103055 =

574850 — 361620 =

295822 — 113800 =

487241 — 366111 =

487633 — 54400 =
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